

## IDEAL THEORY OF SUBTRACTION ALGEBRAS

YOUNG BAE JUN, HEE SIK KIM AND EUN HWAN ROH\*

Received October 12, 2004

ABSTRACT. The notion of ideals in subtraction algebras is considered. Characterizations of ideals are given.

### 1. Introduction.

B. M. Schein [3] considered systems of the form  $(\Phi; \circ, \setminus)$ , where  $\Phi$  is a set of functions closed under the composition “ $\circ$ ” of functions (and hence  $(\Phi; \circ)$  is a function semigroup) and the set theoretic subtraction “ $\setminus$ ” (and hence  $(\Phi; \setminus)$  is a subtraction algebra in the sense of [2]).

In this paper, we define the notion of ideals of subtraction algebras, and then we give some of its characterizations. We show that any ideal  $A$  of a subtraction algebra  $X$  can be represented as the union of ideals of the form  $X(a, b)$  for all  $a, b \in A$ .

### 2. Preliminaries

A *subtraction algebra* is defined as an algebra  $(X; -)$  with a single binary operation “ $-$ ” that satisfies the following identities: for any  $x, y, z \in X$ ,

- (S1)  $x - (y - x) = x$ ;
- (S2)  $x - (x - y) = y - (y - x)$ ;
- (S3)  $(x - y) - z = (x - z) - y$ .

The last identity permits us to omit parentheses in expressions of the form  $(x - y) - z$ . The subtraction determines an order relation on  $X$ :  $a \leq b \Leftrightarrow a - b = 0$ , where  $0 = a - a$  is an element that does not depend on the choice of  $a \in X$ . The ordered set  $(X; \leq)$  is a semi-Boolean algebra in the sense of [2], that is, it is a meet semilattice with zero  $0$  in which every interval  $[0, a]$  is a Boolean algebra with respect to the induced order. Here  $a \wedge b = a - (a - b)$ ; the complement of an element  $b \in [0, a]$  is  $a - b$ ; and if  $b, c \in [0, b]$ , then

$$\begin{aligned} b \vee c &= (b' \wedge c')' = a - ((a - b) \wedge (a - c)) \\ &= a - ((a - b) - ((a - b) - (a - c))). \end{aligned}$$

In a subtraction algebra, the following are true:

- (p1)  $(x - y) - y = x - y$ .
- (p2)  $x - 0 = x$  and  $0 - x = 0$ .
- (p3)  $(x - y) - x = 0$ .
- (p4)  $x - (x - y) \leq y$ .
- (p5)  $(x - y) - (y - x) = x - y$ .
- (p6)  $x - (x - (x - y)) = x - y$ .
- (p7)  $(x - y) - (z - y) \leq x - z$ .

---

2000 *Mathematics Subject Classification.* 03G25, 06B10, 06D99.

*Key words and phrases.* Subtraction algebra, ideal.

\*Corresponding author. Tel:+82 55 740 1232.

### 3. Ideal Theory of Subtraction Algebras

We begin with the following propositions.

**Proposition 3.1.** *In a subtraction algebra  $X$ , we have*

- (i)  $x \leq y$  if and only if  $x = y - w$  for some  $w \in X$ .
- (ii)  $x \leq y$  implies  $x - z \leq y - z$  and  $z - y \leq z - x$  for all  $z \in X$ .
- (iii)  $x, y \leq z$  implies  $x - y = x \wedge (z - y)$ .

*Proof.* (i) If  $x \leq y$ , then by taking  $w = y - x$  we have

$$x = x - 0 = x - (x - y) = y - (y - x) = y - w.$$

Conversely, if  $x = y - w$  for some  $w \in X$ , then

$$x - y = (y - w) - y = (y - y) - w = 0 - w = 0,$$

that is,  $x \leq y$ .

(ii) If  $x \leq y$ , then  $x = y - w$  for some  $w \in X$ . Hence  $x - z = (y - w) - z = (y - z) - w$ , and so  $x - z \leq y - z$  by (i). Next if  $x \leq y$ , then  $x - y = 0$ . Thus

$$\begin{aligned} (z - y) - (z - x) &= (z - (z - x)) - y = (x - (x - z)) - y \\ &= (x - y) - (x - z) = 0 - (x - z) = 0, \end{aligned}$$

that is,  $z - y \leq z - x$ .

(iii) If  $x \leq z$ , then  $x - y \leq z - y$  by (ii). But  $x - y \leq x$ , and thus  $x - y \leq x \wedge (z - y)$ . Let  $w = x \wedge (z - y)$ . Then  $w \leq x$ , and so  $w = x \wedge w = x - (x - w)$ . Also

$$y \wedge (z - y) = (z - y) - ((z - y) - y) = (z - y) - (z - y) = 0,$$

hence  $w - (w - y) = y \wedge w = x \wedge y \wedge (z - y) = 0$ . Therefore

$$\begin{aligned} w - (x - y) &= (w - 0) - (x - y) \\ &= (w - (w - (w - y))) - (x - y) \\ &= (w - y) - (x - y) \\ &= ((x - (x - w)) - y) - (x - y) \\ &= ((x - y) - (x - w)) - (x - y) \\ &= ((x - y) - (x - y)) - (x - w) \\ &= 0 - (x - w) = 0, \end{aligned}$$

and thus  $x \wedge (z - y) = w \leq x - y$ . Consequently,  $x - y = x \wedge (z - y)$ . □

**Proposition 3.2.** *Let  $X$  be a subtraction algebra and let  $x, y \in X$ . If  $w \in X$  is an upper bound for  $x$  and  $y$ , then the element*

$$x \vee y := w - ((w - y) - x)$$

*is a least upper bound for  $x$  and  $y$ .*

*Proof.* Let  $w \in X$  be an upper bound for  $x$  and  $y$ . Since  $w - y \leq w$ , it follows from Proposition 3.1(iii) that

$$(w - y) - x = (w - y) \wedge (w - x) \leq w - x$$

which implies from Proposition 3.1(ii) that

$$x = x \wedge w = w - (w - x) \leq w - ((w - y) - x).$$

Similarly,  $y \leq w - ((w - x) - y) = w - ((w - y) - x)$ . Hence  $w - ((w - y) - x)$  is an upper bound for  $x$  and  $y$ . Let  $a$  be any other upper bound for  $x$  and  $y$ . Using Proposition 3.1(ii), we have  $w - a \leq w - y$  and  $w - a \leq w - x$ . It follows that  $w - a \leq (w - y) \wedge (w - x)$ . Applying Proposition 3.1(ii) again, we get

$$w - ((w - y) - x) = w - ((w - y) \wedge (w - x)) \leq w - (w - a) \leq a.$$

Therefore  $x \vee y := w - ((w - y) - x)$  is a least upper bound for  $x$  and  $y$ . □

**Definition 3.3.** A nonempty subset  $A$  of a subtraction algebra  $X$  is called an *ideal* of  $X$  if it satisfies:

- (I1)  $a - x \in A$  for all  $a \in A$  and  $x \in X$ .
- (I2) for all  $a, b \in A$ , whenever  $a \vee b$  exists in  $X$  then  $a \vee b \in A$ .

Let  $A$  be a nonempty subset of a subtraction algebra  $X$  satisfying (I1). If  $a \in A$  and  $x \leq a$ , then  $x = a - w$  for some  $w \in X$ , and hence  $x \in A$  by (I1). Thus every ideal of a subtraction algebra contains the zero element  $0$ .

**Theorem 3.4.** Let  $w$  be a nonzero element of a subtraction algebra  $X$ . Then the set

$$(w) := \{x \in X \mid x \leq w\}$$

is the least nonzero ideal of  $X$  containing  $w$ .

*Proof.* Obviously  $w \in (w)$ . Let  $a \in (w)$  and  $x \in X$ . Then  $a - x \leq a \leq w$ , and so  $a - x \in (w)$ . Now let  $a, b \in (w)$  and  $x \in X$ . Then  $a, b \leq w$ , and hence  $a \vee b$  exists by Proposition 3.2. It follows from (I2) that  $a \vee b \in (w)$ . Therefore  $(w)$  is an ideal of  $X$  containing  $w$ . Let  $B$  be any ideal of  $X$  containing  $w$  and let  $y \in (w)$ . Then  $y \leq w$ , and thus  $y \in B$ , that is,  $(w) \subseteq B$ . This completes the proof. □

We provide characterizations of ideals.

**Theorem 3.5.** A nonempty subset  $A$  of a subtraction algebra  $X$  is an ideal of  $X$  if and only if it satisfies (I1) and

- (I3)  $x - ((x - a) - b) \in A$  for all  $a, b \in A$  and  $x \in X$ .

*Proof.* Let  $A$  be a nonempty subset of  $X$  satisfying (I1) and (I3). Suppose that  $a \vee b$  exists for  $a, b \in A$ . Putting  $w = a \vee b$ , we get

$$a \vee b = w - ((w - a) - b) \in A$$

by Proposition 3.2 and (I3). Hence  $A$  is an ideal of  $X$ .

Conversely, let  $A$  be an ideal of  $X$ , and let  $\theta_A$  be a relation on  $X$  defined by

$$(x, y) \in \theta_A \Leftrightarrow x - y, y - x \in A, \forall x, y \in X.$$

It is routine to check that  $\theta_A$  is a congruence relation on  $X$ . Let  $a, b \in A$  and  $x \in X$ . Then  $(x, x) \in \theta_A$ ,  $(a, 0) \in \theta_A$ , and  $(b, 0) \in \theta_A$ . Hence

$$(x - ((x - a) - b), 0) = (x - ((x - a) - b), x - ((x - 0) - 0)) \in \theta_A,$$

and so  $x - ((x - a) - b) \in A$ . This completes the proof. □

**Lemma 3.6.** Let  $A$  be a nonempty subset of a subtraction algebra  $X$  such that

- (I4)  $0 \in A$ .
- (I5)  $(x - y) - z \in A$  and  $y \in A$  imply  $x - z \in A$  for all  $x, y, z \in X$ .

If  $a \in A$  and  $x \leq a$ , then  $x \in A$ .

*Proof.* Let  $x \in X$  and  $a \in A$  be such that  $x \leq a$ . Then  $(x - a) - 0 = 0 \in A$ , and so  $x = x - 0 \in A$ . □

**Theorem 3.7.** Let  $X$  be a subtraction algebra. A nonempty subset  $A$  of  $X$  is an ideal of  $X$  if and only if it satisfies the conditions (I4) and (I5).

*Proof.* Assume that  $A$  is an ideal of  $X$ . Obviously  $0 \in A$ . Let  $x, y, z \in X$  be such that  $(x - y) - z \in A$  and  $y \in A$ . Taking  $b = 0$  and  $a = y$  in (I3) and using (p2), we get  $x - (x - y) \in A$ . It follows from (p2), (p7), and (I3) that

$$\begin{aligned} x - z &= (x - z) - 0 \\ &= (x - z) - (((x - z) - ((x - y) - z)) - (x - (x - y))) \in A, \end{aligned}$$

proving (I5). Conversely suppose that  $A$  satisfies (I4) and (I5). Then  $(a - a) - x = 0 - x = 0 \in A$  for all  $a \in A$  and  $x \in X$ , and so  $a - x \in A$  by (I5). Since  $(x - a) - (x - a) = 0 \in A$  for all  $a \in A$  and  $x \in X$ , it follows from (I5) that  $x - (x - a) \in A$ . Note that  $((x - b) - ((x - a) - b)) - (x - (x - a)) = 0$ , that is,  $(x - b) - ((x - a) - b) \leq x - (x - a)$  for all  $b \in A$ . Using Lemma 3.6, we have  $(x - b) - ((x - a) - b) \in A$ . Since  $b \in A$ , it follows from (I5) that  $x - ((x - a) - b) \in A$  which shows (I3). Hence  $A$  is an ideal of  $X$ .  $\square$

**Theorem 3.8.** *A nonempty subset  $A$  of a subtraction algebra  $X$  is an ideal of  $X$  if and only if it satisfies (I4) and*

(I6)  $y \in A$  and  $x - y \in A$  imply  $x \in A$  for all  $x, y \in X$ .

*Proof.* Let  $A$  be an ideal of  $X$ . (I6) is by taking  $z = 0$  in (I5) and using (p2). Conversely assume that  $A$  satisfies (I4) and (I6). Let  $x \in X$  and  $y \in A$ . Since  $(y - x) - y = (y - y) - x = 0 - x = 0 \in A$ , it follows from (I6) that  $y - x \in A$  which proves (I1). Note that

$$(x - ((x - a) - b)) - b = (x - b) - ((x - a) - b) \leq x - (x - a) \leq a,$$

that is,  $((x - ((x - a) - b)) - b) - a = 0 \in A$  for all  $a, b \in A$  and  $x \in X$ . Using (I6), we get  $x - ((x - a) - b) \in A$ , that is, (I3) is valid. Hence, by Theorem 3.5,  $A$  is an ideal of  $X$ .  $\square$

**Theorem 3.9.** *Let  $A$  be a nonempty subset of a subtraction algebra  $X$ . Then  $A$  is an ideal of  $X$  if and only if it satisfies:*

(I7) for any  $a, b \in A$ ,  $x - a \leq b$  implies  $x \in A$ .

*Proof.* Assume that  $A$  is an ideal of  $X$  and let  $a, b \in A$ . If  $x - a \leq b$ , then  $(x - a) - b = 0 \in A$ , and so  $x \in A$  by (I6). Conversely suppose that  $A$  satisfies (I7). Since  $A$  is nonempty, we can take  $a \in A$ , and then  $0 - a = 0 \leq a$ . Using (I7), we get  $0 \in A$ . Let  $x, y \in X$  be such that  $y \in A$  and  $x - y \in A$ . Since  $x - (x - y) \leq y$ , we obtain  $x \in A$  by (I7). It follows from Theorem 3.8 that  $A$  is an ideal of  $X$ .  $\square$

**Lemma 3.10.** *Every subtraction algebra satisfies the right self-distributive law, that is, the equality  $(x - y) - z = (x - z) - (y - z)$  is valid.*

*Proof.* Let  $X$  be a subtraction algebra and  $x, y, z \in X$ . Then

$$\begin{aligned} &((x - y) - z) - ((x - z) - (y - z)) \\ &= ((x - z) - y) - ((x - z) - (y - z)) \\ &\leq (y - z) - y = 0, \end{aligned}$$

and so  $((x - y) - z) - ((x - z) - (y - z)) = 0$ . Since  $(x - y) - (x - z) \leq z - y$ , it follows from (S3) and Proposition 3.1(ii) that

$$((x - y) - w) - (x - z) = ((x - y) - (x - z)) - w \leq (z - y) - w$$

for all  $w \in X$ . Substituting  $x - z$  for  $x$ ,  $y - z$  for  $y$ ,  $(x - z) - z$  for  $z$ , and  $(x - y) - z$  for  $w$  in the above inequality, we have

$$\begin{aligned} &((x - z) - (y - z)) - ((x - y) - z) \\ &\leq (((x - z) - z) - (y - z)) - ((x - y) - z) \\ &\leq ((x - z) - y) - ((x - y) - z) = 0, \end{aligned}$$

and thus  $((x - z) - (y - z)) - ((x - y) - z) = 0$ . Therefore the right self-distributive law is valid.  $\square$

**Theorem 3.11.** *If  $A$  is an ideal of a subtraction algebra  $X$ , then the set*

$$A_w := \{x \in X \mid x - w \in A\}, w \in X$$

*is the least ideal of  $X$  containing  $A$  and  $w$ .*

*Proof.* Let  $w \in X$ . Since  $0 - w = 0 \in A$ , we have  $0 \in A_w$ . Let  $x, y \in X$  be such that  $y \in A_w$  and  $x - y \in A_w$ . Then  $y - w \in A$  and  $(x - y) - w \in A$ . It follows from Lemma 3.10 that

$$(x - w) - (y - w) = (x - y) - w \in A$$

so from (I6) that  $x - w \in A$ , that is,  $x \in A_w$ . Hence  $A_w$  is an ideal of  $X$ . Obviously  $A_w$  contains  $A$  and  $w$ . Let  $B$  be an ideal of  $X$  containing  $A$  and  $w$ . If  $x \in A_w$ , then  $x - w \in A \subseteq B$ , and hence  $x \in B$  by (I6). Thus  $A_w \subseteq B$ , and consequently  $A_w$  is the least ideal of  $X$  containing  $A$  and  $w$ .  $\square$

**Theorem 3.12.** *Let  $X$  be a subtraction algebra. For  $u, v \in X$ , the set*

$$X(u, v) := \{x \in X \mid (x - u) - v = 0\}$$

*is an ideal of  $X$ , and  $u, v \in X(u, v)$ .*

*Proof.* Obviously  $0, u, v \in X(u, v)$ . Let  $x, y \in X$  be such that  $y \in X(u, v)$  and  $x - y \in X(u, v)$ . Then  $(y - u) - v = 0$  and  $((x - y) - u) - v = 0$ . It follows from (p2) and Lemma 3.10 that

$$\begin{aligned} 0 &= ((x - y) - u) - v \\ &= ((x - u) - (y - u)) - v \\ &= ((x - u) - v) - ((y - u) - v) \\ &= ((x - u) - v) - 0 \\ &= (x - u) - v \end{aligned}$$

so that  $x \in X(u, v)$ . Hence  $X(u, v)$  is an ideal of  $X$ .  $\square$

**Lemma 3.13.** *Every ideal  $A$  of a subtraction algebra  $X$  contains the ideal  $X(a, b)$  for all  $a, b \in A$ .*

*Proof.* Let  $x \in X(a, b)$ . Then  $(x - a) - b = 0 \in A$ , and hence  $x \in A$ . This shows that  $X(a, b) \subseteq A$  for all  $a, b \in A$ .  $\square$

**Theorem 3.14.** *Every ideal  $A$  of a subtraction algebra  $X$  can be represented as the union of ideals of the form  $X(a, b)$  for all  $a, b \in A$ , that is,  $A = \bigcup_{a, b \in A} X(a, b)$ .*

*Proof.* Let  $A$  be an ideal of  $X$  and  $x \in A$ . Since  $x \in X(x, 0)$ , we have

$$A \subseteq \bigcup_{x \in A} X(x, 0) \subseteq \bigcup_{a, b \in A} X(a, b).$$

Now let  $x \in \bigcup_{a, b \in A} X(a, b)$ . Then there exist  $u, v \in A$  such that  $x \in X(u, v)$ . It follows from Lemma 3.13 that  $x \in A$  so that  $\bigcup_{a, b \in A} X(a, b) \subseteq A$ . This completes the proof.  $\square$

## REFERENCES

- [1] J. C. Abbott, *Semi-Boolean Algebras*, *Matemat. Vesnik* **4** (1967), 177–198.
- [2] J. C. Abbott, *Sets, Lattices and Boolean Algebras*, Allyn and Bacon, Boston 1969.
- [3] B. M. Schein, *Difference Semigroups*, *Comm. in Algebra* **20** (1992), 2153–2169.
- [4] B. Zelinka, *Subtraction Semigroups*, *Math. Bohemica*, **120** (1995), 445–447.

Y. B. JUN, DEPARTMENT OF MATHEMATICS EDUCATION, GYEONGSANG NATIONAL UNIVERSITY, CHINJU 660-701, KOREA

*E-mail address:* `ybjun@gsnu.ac.kr`

H. S. KIM DEPARTMENT OF MATHEMATICS, HANYANG UNIVERSITY, SEOUL 133-791, KOREA

*E-mail address:* `heekim@hanyang.ac.kr`

E. H. ROH, DEPARTMENT OF MATHEMATICS EDUCATION, CHINJU NATIONAL UNIVERSITY OF EDUCATION, CHINJU 660-756, KOREA

*E-mail address:* `ehroh@cue.ac.kr`